Subject: Re: Decompose a matrix
Posted by Spon on Wed, 19 Dec 2007 14:08:43 GMT

View Forum Message <> Reply to Message

On Dec 19, 12:15 pm, d.po...@gmail.com wrote:
Folks
| have a problem could anyone help me?
Let:
A=[0,01],%
[0,1,0], $
[0,0,0]]
B =[0.5,0.5,1]

; Decompose A
SVDC, A, W, U,V
; Solve A.X=B
X=SVSOL(U, W, V, B)
new_B=A##X
IDL> print,new_B
0.500000
0.500000
0.000000
Why new_B is not equal to B' ?
Thanks for any help in advance
Cheers
Dave
A simple workaround (read: cheat) is to make sure your Eigenvalues are
_close_to zero rather than equal to zero. | guess it depends on how
accurate you need your results to be :-)

VVVVVVVVVVVVVVVVYVYVYVYVYV

A*=1.0

A[0,2]+=0.01

SVDC, A, W, U,V

X=SVSOL(U, W, V, B)

PRINT, TRANSPOSE(A##X)

IDL> 0.500000 0.500000 1.00000

You'd probably want to do the whole thing in double precision so you
could use a smaller zero-offset.

Take care,
Chris
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